








































NAVIGATION 
To understand the NAV and RES readouts of compass headings for navigation it is 
necessary to adopt tile proper perspective of the relationship of the earth and helicopter. 
While the headings indicated are earth coordinates, the computer always sees itself at 
the exact center of the compass and the earth moving beneath it. If you observe the 
compass diagram provided with the documentation, assume that the compass circle is 
affixed to the aircraft. Wherever you fly, the vertical line that connects North and South 
and the horizontal line that connects East and West always converge at the helicopter. 
All points on the ground move apart from this heli-centered grid. 
Let us take off from Base, the source of the VOR transmission, with our NAV active 
and fly due north. The COM reading will be 000. If we observe the NAV readout we 
see that it soon changes to 180, which is a heading of due south. This is because the 
Base is now to the south of us. If we stop, hover and turn completely around until the 
COM reads 180 and fly straight ahead, we will then fly back over the Base, at which 
point the NAV will change to 000, or due north, since we have gone south of it now. In 
the same manner, had we flown East or West from BASE the NAV readout would 
indicate the exact opposite direction since it is showing the way to get' back to the 
source of transmission. 
Before flying in some other directions, a further understanding of the way headings are 
computed is necessary. Since there is only one signal coming from one direction on 
which to home in on, the position of the source cannot be triangulated. To compute the 
position from a single source, the computer first utilizes a north/south bias that selects 
either north or south numbers depending on the incoming signal. A more discrete 
measurement is made of the angle of reception to find the distance to the east or west 
of the source. 
To see how this works out, let us take off from BASE and this time fly Northeast at a 
COM reading of 040. What happens to the NAV readout? As we are moving north, we 
know the Base is moving to the south so the number at the NAV will be some southern 
degree. Similarly, since we are also flying east, the Base must be going to the west of 
us and so the number is further limited to the south-west arc of the compass, or 
something between 180 and 270. Since the Base is not exactly to the west or exadly 
south the reading will not be 270 or 180. Therefore, __ are moving east, in the 
northern half of the map, the reading should progress steadily from 180 toward 270 (in 
10 degree increments, as that is the resolution of the equipment). 
What would happen if we turned due North (COM 000)? The NAV readout would not 
change since we are still in the northern arc and are maintaining our eastern distance. 
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If, on the other hand, we turned southeast the NAV would continue to move toward 270 
a$1 before. But, when we cross the line and enter the southern arc of the compass, the 

· NAV readout woulp 'flip' to the Northwest degrees. 
For instance, if, atthe point of crossing, the NAV read 210 then it would 'flip' to 330 
which, if you .look at the chart, is the northern counterpart of 21 O. 
In practice, the pilot can interpret the NAV heading (n light of the .limitations of the 
system. If one followed the heading exactly as the numbers changed-the course travelled 
back to Base would be an arc rather than a straight line. A thorough understanding of 
this will allow the pilot to-'cut in' to the arc and find -a more direct course by leading the 
NAV heading .in the direction of change. For .example, you are .somewhere northwest 
of Base. The NAV reads 150. If you travel east, the number changes to 160, 170, etc. 
As you can see, the heading is--moving to due _(180) . If you originally did not 
follow the heading 150 but, instead, turned more south, say 160, you would actually 
be moving more directly-toward the Base. Calculating the amount of lead is a matter 
of and practice but, as you can see, the selection in this instance must be 
somewhere between 150 and-180, exclusive. Jf. you chose a lesser number you wo.uld 
stay too far north and a greater number wouh::i keep you too far west. A general rule . 
of thumb could be to always choose a heading half way between the NAVreadout and 
due North or South, depending on your position. 
Another use of the NAV readout is to find your exact position on the map at any.time. 
As we have seen, your direction from Base is always the exact diagonal opposite of 
the NAV. ltyou use the DST command to find the distance to the Base you then know 
how far and .in what direction the helicopter lies. 
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